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State the rule that determines the direction of magnetic field due to a current
carrying straight conductor.

i 1 R T UOR e Ao Sae I S O 7
Name the part of human brain that maintains posture and equilibrium in the
body.

3 i 1 el SR S e S | EEA T 9 TS & 9 H S At T 7
List two gases that are produced when biogas is prepared in a biogas plant.
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MnO:+ Hel — MnClh +Ch+HO

Balance the given chemical equation and identify the substance oxidised and the

substance reduced.
MnOz + Hel — MnCh+ Cl+HO

T FiaEEE e T £2 o e w1 1 % fou 2 e e

What are metal oxides 7 List two examples to justify your answer.
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An electric iron consumes energy at a rate of 880 W when the heating is at the
maximum rate the voltage applied is 220 V. Find the current drawn and
resistance of electric iron.
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List four factors on which the magnitude of force acting on a current carrying
conductor in a magnetic field depends.
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The colour of freshly prepared solution of copper sulphate gradually changes
when an iron nail is dipped in it ? Name the reaction that takes place and give a
balanced chemical eguation mentioning the state of the reactants and the
products.
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(a) What is corrosion ? List two different ways by which corrosion of metals
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can be prevented.
(b) Bags of oil or fat containing food items like chips are flushed with
nitrogen, why ?

(a) ﬁﬁﬁm%@mﬁ@wﬁﬂzﬁw@aﬂm%? 3

(b) @nﬁﬁzﬁmﬁq{aﬁamwﬁaﬁmﬁmﬁmmwmm%?

(c) St Gl oo faeEA FpH T E e 2t o FW 2 A I R
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(a)  How does baking soda helps to make cakes and breads spongy ?

(b) How does baking soda helps when we feel pain and irritation in the
stomach during indigestion ?

<) Wwill pH value of agueous solution of baking soda be greater or less than
7 ? Justify your answer.
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A metal M is found in nature as its carbonate ore, it is used in galvanization of
iron articles. Identify M and name ‘s ore. How is M extracted from this ore :
. Explain with equation for the reactions involved.
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@ eVEAE Tiiifer 10 a9 20 Jviiews HA
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Compare the power used in the 26} resistor in each of the following circuit.
{1 a 6V battery in series with 14} and 20 resistors and
(i) a4V battery in parallel with 1242 and 20} resistors.
2 gy AR fHdl S % B 9, 6l SrofraEn S T Tvdwn A et RT3
Einad aﬁwﬁﬁaﬁﬂaﬂmﬁmﬁmwﬁm?
Two identical wires are first connected in series and then in parallel to a source
* of supply. Find the ratio of the heat produced in two cases.

v 5l w67 mmﬁﬁf@uum&ﬁ%mwﬁwﬁgm 3
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What is a fuse. State its function. An electric oven of 2KW power is operated in

2 domestic electric circuit of 220 V that has a current rating, of 5A. What result
do you expect? Justify your answer.

wﬁmﬁﬁﬁm@ﬁ@ﬁmﬁmﬂﬁmﬁﬁﬁmﬂmqﬁﬁﬂh 3

With the help of labelled diagrams Jescribe in brief the process of nutriion m
amoeba.

ﬁﬂﬁ'ﬂﬁmﬁ,ﬂ,c:'amnﬁmﬁfaﬁn 7 3 Py N HeRd e & 2 3
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17.

15.

19.

20.
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Name the hormaone secreted by thyroid gland. Write its function. State the
importance of iodized salt in our diet. Name the disease caused due to
deficiency of iodine and state its symptom.

o % 2 T 1 A fafed 5 o FEweiE oEd €1 d9 S H gE Ry 3
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Name two energy sources that you would consider o be renewable. Give
reason for the justification of your answer.

S S RS e £2 Sl $5 = SeH S SR aaE fated | 3
What are fossil fuels ? List four disadvantages of burning fossil fuels.

(@)

(b)
(<)
(@)

(b)
(©)
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Draw a labelled diagram to show how metals react with steam to form
metal oxide.

Write balanced chemical equations to show the reactions of aluminium

and Iron with steam.

List four metals which do not react at all with water.
=T S OR
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(a) What kind of compounds are called ionic compounds.
(b)  Describe in brief four general properties of ionic compounds.

2. (a) mmmﬁmﬁmmﬁwag@ﬁﬁﬁm% 5
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@) T Seaiea T A e
(@ ¥a T T % e e fafaq)
(d)  FHHI AR Tt g A R |
{a) With the help of a labelled diagram demonstrate an experiment to show
the reaction between sodium carbonate and dilute hydrochloric acid.
(b) MName the gas evolved.
{<) Suggest the test for the gas evolved.

(d)  Write equation for the chemical reactions involved.
7= S OR

(a)  hmv = T i
(i) e wehe i e T T R O ufE FE
(i) @ 39 pH 6 Tl = g9 9§ 8 ATl &t ZEE pH &I AF 55 @

S & |
(i) =R T 5% a4 e i AT a9 S 9 2 )

(b) ﬁwiﬁqﬂﬁaﬁaﬁgﬁﬁfgﬁfﬁaﬂwm%ﬂmﬁ%mfﬁﬁ
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{a) Explain why
(1) Dry crystals of copper sulphate changes colour on heating.

(ii) Fresh milk has a pH of 6. This value of pH decreases when milk
is changed into curd.
(iv)  Tartaric acid helps in making cake or bread soft and spongy.
(b) Doctor apply wet surgical bandages on the fractured bones of a patient

for supporting them in right position. What changes are likely to occur.
Write chemical equation for the reaction involved.

22. ﬁﬂﬁwﬁaﬁﬁ%mﬁwmmmﬁ@w%éﬁﬁﬂm 5
foam fafaa o o = favErR % Y wiEdd Svi @1 urE gl TRt
T & whe # e S 08 v favai 9 el & e 200mA T
oI e B 9% A S e e ?

State the law which relates the current flowing in a conductor with potential
difference applied. Draw the graph showing variation of current with potential
difference. Define resistance of a conductor, calculate the resistance of conductor
if the current flowing through it is 200mA when a potential difference between
its two ends is 0.8V.

AT OR
oFrd 3 o T F afar dfsE Red faem ofte () T () Hieediet
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Define SI unit of resistance. How is (i) an ammeter and (i) a voltmeter
connected in an electric circuit 7 A set of 'n’ identical resistors each of resistance
R are connected in series and the effective resistance is found to be "X, When
these ‘'n’ resistors are connected in parallel, the effective resistance is found to be
*¥*. Find the ratio X/Y.

HaErg 4 el T Fed €2 fedl fog w asia o =1 fam 8 9w = o 22
frdt 92 Jas & AR AR gaFa 8 el 5 e |l | gawE 8% EE 6
T T =R |
What are magnetic field lines? How is the direction of magnetic field at a point
determined? Diraw the patterns of field lines due to bar magnet. List two
properties of magnetic field lines.

HEF/OR
E ST O E R #7075 S geehig S o gvisd |
Tt wers o wita o <6t fewn w0 = o fram fafed

What is meant by electromagnetic induction 7  Describe an activity to show the
phenomenon of electromagnetic induction. Name and state the rule to
determine the direction of induced current produced in a conductor.

(a) T3 %54 % ¢34 FI2 & 799 F954 991 394 71 9P =1 A i |
(i)  HerE (i) <l FeE
(i) TS Y (iv) @l =fes

(b)  Efe qun aHiE F FE w v ik

(a) Draw a sectional view of the human heart and label the following parts .

(i) Aorta {ii) Right Ventricle
(i)  Pulmeonary vein {iv)  Leftauricle
(b)  State the functions of blood and lymph.
HEET S OR

(a)  =Fa SogeE oF % 9 99 ag e 9wl # i St )
M T @)
(iii) A (iv) EEm
(b) % % < = FE H YE T
(c) Wl geh H @A A I I EAl 6 7
(a) Draw a diagram of excretory system in human being and label the
following parts
(i) Kidney (ify  Ureter
(iif)  Urinary bludder (iv)  Urethra
(b) List two major functions of kidney.
{c) What happens to the urine formed in each kidney?
H-49/ SECTION - B
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(d) TS T TEER b dien AET 7
When we mix aqueous solution of barium chloride to agueous solution of
sodium sulphate we observe that
(a) a white precipitate is formed almost immediately
(b) a white precipitate is formed after some time

(c) acolourless and odourless gas is evolved
(d) ayellow precipitate is formed after sometime

26. Fﬂ?m%aﬁﬁmﬁtﬁ@%@ﬁeﬁﬁlﬁlﬁﬁﬁﬁmﬁmﬁﬁm: 1
(a) @ & (b) I E
() frem (@ =

A student dissolves some crystals of CuS0s in distilled water. The colour of the
solution obtained would be
{a) Dark green (b} FPale Green

=" Blue (d) Brown

27, Fpdtom I el % SE & T F1 pH 25 991 3.6 F == 94 11 o8 feE i w1

v foF el HSE
(a) =E (b) WS HA=AA
{c) e (d) &

A student determines the pH value of a sample of fruit juice between 2.5 and
3.6. He may conclude that the fruit juice is__

{a) Acidic (Y~ Highly acidic
{c) MNeutral (dy  Alkaline
28.  fopelt =t w g pH TR R T § pH U H T WA T B 1

(a) T TEEEA FREe fFEa)

(b) @7 difsaa eEsiaEe e

(c) =mga W@ H = Hifed FenEe o |
(d) o # = i nse e

A drop of liquid is poured on a pH paper such that the colour of pH paper
changes to green the liquid is
(a)  Dilute hydrogen chloride solution
(b}~ Dilute sodium hydroxide solution
() Sodium chloride solution in distilled water
(d) Ammonium chloride solution in water

29, o et Tl § Foid % g T ag HCI v e, o Yern feran m fo 1
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When dilute HCI acid is added to granulated zinc placed in a test tube, The

ohservation made is
(a) “The surface of the metal turns shiny
. ) T O] m].xture l‘umS D‘I]].k}'

t
b

30. ﬁ'm'm'ﬁaﬁ@mw@m{. =9 50 fe
mm,wgﬁwﬁﬁﬁﬁﬁﬁﬁmﬁﬂﬁﬁﬁmmﬁmmwwﬁs

SHF T W U e ST T S S e
(a) AEmE (b) TEAE!
() = guEl (@

A ﬂmpiﬂn of zinc was placed in a beaker containing agueous ferrous sulphale
0 the zine plate was taken out of the ferrous sulphate solution
m&, on observation it was noticed that is surface is coated

O apped

= & (b] G[E}r
(d)  Black

3L mﬁqwﬁﬁﬂ{:ﬁmFesoq,ZnEDmﬂer(SDggﬁaﬁﬁ@@gﬁaﬁ
& Bl 1 15 iz g, dermT oL urE T i

(a) mﬁﬁﬁﬁwmﬁﬁaﬂﬁﬂﬁﬂi
) ZnSOs CuSOs THT Al (SOs)s e - e BT A1 FeSO, 1 41 T80
8 o :

F56 ZnSO, T Al (SO5)s B

ﬁiﬂﬂCuS@ﬁWﬁﬁﬁ :

s of CuSOs, FeSOs, Zn SOs ere separately taken in four

mbes and some pieces of i :
e abuut]Eummmsitmommtf

All the four solutions changed

Solution of ZnS0;, mm&mmm&mdmm
not  change
(6)  Solution of ZnSO; and Al (SOx)s only changed

Solubion of Cu SC).], D‘II.I}I’ Ehange
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ﬁmﬁﬁf@ﬂﬁﬁ—mmﬁw%%ﬁm%? T B
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(b) *MIH@maqiﬁﬁhﬁfmaimvﬁzfﬁqaamqmn
© ﬁmvnmmﬁfﬁmt?ﬁmmq@ﬁm
(d)  1aEV A e T

To study the dependence of current on potential difference a student arranges

the f_ulluwing circuit
e { e A
!

o

Which one of the following statements ic true for this circuit 7 It gives

(a) Incorrect reading for current I as well as potential difference V

(b)  Correct reading for current I but incorrect reading for potential
difference

(<) Correct reading for potential difference V but incorrect reading for
current I

(d) Correct reading for both Land V
fawara (V) ™ ﬂmmm’rﬁﬁmmmamﬁérﬁmﬁaﬁmﬁm, B, CHMDA

o LV TR S Temil 3 s W oEE

i i/ii e
DEU_'D—G;\J '_"_*

0 —ev o —
{a}

Tt o fora o1 1 A SEW & AR €
@ A b B & C (@ D

In the experiment on studying the dependence of current (I) on the potential
difference (V) four students A, B, C and D plotted the following I-V Graph as
per their respective observations

1 . i / t\/ i . —r
o —V o——v " 0 —v 0 —v
1A (=) L ()
The observations likely to be correct are those of
(a) A (b) B (<) C (d) D
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(a) whig 7 uiada 3 99d % el

(b) wferdis 5 | == & T

(© Frm ) Fruiia feaferd = wiafe 3

(d) FuE Bl

In the experiment to study the dependence of current on the potential difference
across a resistor a key is used in the dircuit. Key used in the circuit should be
kept off while not taking ammeter and voltmeter readings. It is necessary.

(a) To avoid resistance variation

(b) To avoid heating of the resistor

(<) To satisfy the condition of the law

(d) For all the three above

35. E‘[Eﬁﬁﬁﬁ@ﬁﬁﬂﬁﬂﬁﬁ?@ﬂaﬂ@ﬁlﬁwﬁtﬁﬁﬁﬁﬁuﬁﬂﬁm 1

. :
e
( ¢ Ry

2 |.l1‘_—(
u

HE—
1

() e g S i 1 %6 3ot G e UEERH HAr |
(b) fau gu < AfelEi 1w T A ad A A
(©) aﬁmmﬁﬁﬁq@amwmﬂﬁmﬁu
(d) S el 3 fou gu Q) TR @ Tedwn HheE T

Two students are using the circuits shown here they are doing the experiment o
find the equivalent resistance ofa:
it

®
Bl

i i
(a) Series combination and a parallel combination respectively of the two
given resistors
{b) Parallel combination and a series combination respectively of the two
given resistors

(<) Series combination of the two given resistors in both the cases
(d)  Parallel combination of the two given Tesistors in both the cases

36. ﬁ%ﬁqwqﬁqsﬁ1,1i,mﬁmwﬁﬁaﬁﬁﬁ€rﬁﬁ€mﬁfmﬁmﬁmkﬁwa 1
Sresiter Ten Uit Sviieen W@ i B
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(a) 1 by M (¢) I (d) IV

Out of the four circuits I, 11, 11l and IV given below, select the one in which the
ammeter and volbmeter have been correctly connected with a senes
combination of two resistors & and Rz

+ /'Tu\'_ + -

oo B R,
Hide
—1HHt
1 l

HHHF =l
"..J
(a) I e (b) 1 qlc‘_n 11 (d IV
37, fed widfaEe 99 % uE o e w0 A g @ e R sm e e A 1
frr T B 1 T F GE W A 1S AU T R T 9 R e

e 7 -
Whilo
Biack pager Biue black
Figura 1 A

Eilue biack Dilpe back Yhile
wWrae Grmaen Gaman
Blue bl Blue back Whilia
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38,

39.

iy fam fasTgam 2, &6 € -

(a} A (by B €y {dy D

A leaf from a destrached plant is covered with black paper strip as shown in the
figures below. The starch test is done on the leaf after keeping the plant in sun
light for eight hours.

Whille
Black paper Bouw biack
Whie

Figura 1 A

Bl Black B Dlack Whie

Wntis Grman Gepan

Bhie black fum Edach Wi
B c D

The result will be as shown in the Diagram.

(a) A by B () C (d) D

G Tyemel wE & ol W eEeE E whm W oy § e oW wem 1
Frfefiad = S0 % ST S =ied

(i) e F i Y 3 - 4 5 T S H Wl

(i) T T @ T 48 TR e S o TE)

(i) S Y e e og § e

(v) R 1 = e ¥ fad aE

A o HE

(a) {ij}, (1), {iv].l, (it} (b) (i), (iv), (ii), (i1)

() (iL), (iv), (iii), (i) (dy (i), (iid), (1), (iv)

In the experiment to prove that light is necessary for photosynthesis, the leaf
should be tested for starch after the followmg four steps ©

(i} Keepthe plotted plant in sun light for at least 3 - 4 hours

(it} keep the plotted plant in complete darkness for about 48 hours

(i) Cover a leaf of the plant with black paper stnip

(iv) Pluck the leaf for starch test

The Correct sequence of these steps is:

(a) (), (i), (iv), (ii) (b) (), (iv), (i), (1)

(¢) (i), (i), (iid), () (d) (i), (iid), (3). (V)

farell w3 Foargem 1 = - 1
Tall

=8 ol @i wim 4 gl i 3 :

(a) e 3 2 T fean @ fos = i A A
(b) 2 FifEe g o SR 1 ek TR ar

(c) =R FifEE § FE ad Ei o il |

(dy o e feaft § e @

A student had drawn the diagram of stomata as shown below -
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40.

41.

Stoma

He could not be given full marks as he

(a)  Forgotto draw nuclei in guard cells and also to label the diagram

(b)  Did not draw nuclei in guard cells and other cells

(c)  Should have drawn nuclei and chloroplasts in guard cells and nuclei in
all epidermal cells

{dy  Did not label the stema in its correct position

uedt &) A =@ % e w1 el aen W gemew 9 2 W e a1
feEE € @ o, 98 :

(a)  ENER T T FE el o e

(b) STEISH § {99 Fh T H FAR R T A

() HwifA @ Tom w5 freda o qar e e )

(d) HwIfE | ToF F0h wel 0 TA forEn A

The temporary mount of the leaf epidermal peel which Iooked pinkish red
under the microscope was

(a) Stained in iodine and mounted in glycerine
(b) Stained in iodine and mounted in water
(c) Stained in safranin  and mounted in glycerin

(d)  Stained in safranin and mounted in water

i Tui =R T2 o § | F-1 92 31 7e wviiar ¥ e v whea A sigfm a1
BRI CO; el €1

@ 1

Out of the four experimental set- up shown, which one will demonstrate the
evolution CO; during respiration of germinating seeds.

() M () IV
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@ 1 (k) 1 ¢y I (dy IV
et 3 & TRl w1 S W 59 g€ v o ¥ fou wd @ e s 1
S A ERsEaEs a Il ad €
(a) I dd F2 79 ; T H KOH 19 gR Tesh g4 ; =it H Fram el =i
5 e g ; v 1 T i & 0 o) aigfa gu d)
(b) =M ER KOH i Toarelt w2l g ; 19 T womeh . g 2 39 9
eft e &; Fbrm el 99 & T H S9N
(c) eI H sigia #@i o H g9 g e i Freg Aol w@ = 908 9 1
fd :
(@) FemE el W & T g G KOH 1 9raell u% Hi2 a8 9 @2F 68
<1 el % AT H B
Which one of the following is the correct set of precautions for setting up the
experiment to demonstrate that carbon dioxide gas is evolved during
respiration ?
{a) Air tight set-up; thread holding KOH test tube; delivery tube dips in
water in beaker: Flask has wet seeds which have just germinated.
{b) Thread holding KOH test tube; air tight flask; experimental set-up not
air tight; delivery tube above the water
{c) Germinating seeds under water in the flask; delivery tube above the
surface of water in the beaker
(d)  Delivery tube touching bottom of water; KOH test tube held by a thick
wire; seeds covered by water.
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